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Departmental Kanungo Examination November 2023
IR @1 adis, TR, 2023
No reference book/Bare Act is allowed

Paper Number 2. Settlement Manual and Mensuration Maximum Marks: 100
TR F0 2 HTAHT HYHH Ud HATE Time: 3 Hours

Note:  Question Number | is compulsory, Attempt any other four questions.
All questions carry equal marks.
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Question No. 1; Write briel note:
dlersr qre fae:

(1) Difference between triangular pyramid and boundary pillar,

dger ok gl e § avax |

(2) Difference between regular settlement and revise settiement.
. . NP ; .
A SR ofR TR (HMida) TR H o

(3) Field Book. Also draw the format. a
fhee gen | g A g |

(4) Permanent/standing record and periodical record.

g Wi e el s |

(5x%4)=20
Question No.2:
(a) Define the various type of mutation. How much fee is chargeable in each
of them,
(@) I~ goR & Sarel @ U X T YF UHR & Zwprd 99 el
ST AT W B faaRer W S

o (10)
(b) What is the importance of harvest inspection. When and how many times
harvest inspection is carried out during a calendar year.
(@) e @1 921 95@ € | U8 U@ HolveR 99 1 #d iR fFa ar a1
S 8 .
(10)
Question No, 3:What is question of title 7 If during the course of partition proceeding

question of title is raised then what type of action is to be taken by the revenue
officer and who is the competent authority to decide such question of title.
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Question No. 4: _

(a) Role of kanoongo in encochment matters, when reported  to him by
patwari. what is warrant of ejectment and what action is required by the
kanungo in warrant of cjectment (Also mention the validity period of such
warrant,

(zﬁ_)aﬁamaﬁmmﬁﬁﬁuﬁémﬁsﬁwmﬂﬁmaﬁﬁ%t
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(b) What is the difference between warrant of ejectment and warrant of
possession and also define the role of kanoongo in both type of warrant.

(@)WWGWWWﬁWWEﬁHWﬁW%W

§ e B et T A A
. (10)

Question No. 5: You have been appointed as local commjssioner for demarcation. Describe
The entire procedure of demarcation and also write the final demarcation
report.

oot erHedl 8¢ el HHITR Frge o) T # | P d I
ofpay @7 At Y aur e R Peremear o fordl |
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Question No.6: Under which provision, the land Records offices are established. What type
of record is kept in land records office. Who are the officer incharge of such

offices at District and Qub division level .Also describe the detail of officials
deputed/ posted in land records office.

“{\—WW%WW&WW?W%W% |
raterdt # w2 |1 oo <@ W § | freT 9 SuEEH WR W DI
SR ¢ wEEEl ® g ERE y-arfirera wrieE # T
gl & o vl A

(20)



Dupartmental Examination for Kanungo / Patwaris of Revenue Department

USTE AT & Prferon / et F e Rarha afer
_ Paper-3: Arithmetic | UUi-3: 3{ehaTiarg
SOAMM ¢ NQ\!, D003 © Marks: 100 | 3fd: 100

Time: 3 hours | GHY: 3 &
Question 1 is compulsory. Attempt any other 8 guestions. '
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1. (2) Solve the following pair of lincar equations by the substitution method.
&x+5y=9 Ix+2y=4

(@) Frafafed Wee T gm Bt giers 3 gr s a3

8x + Sy =19 Ix +2y=4

(b) Find the roots of quadratic equation by factorisation:
100x% - 20x +1=0
(@) BPR® g fgurd THldp aﬁ@@@l@

100x* - 20x +1=0

(c). Find the sum: (5/3) + (3/5).
() TN BT U AT (5/3) + (3/5)

(d) Find the value of (-4) + (2/3).
(9 "GN (-4) = (2/3) ]

(e) Find the area of a square park whose perimeter is 320m.

(&) U T Ui 1 & Wit orgest uRf 320 hew 2
4x5=20

2, (a) Find the breadth of a rectangular plot of land il its area is 440 m? and the length is
22 m. Also, find its perimeter.

() T ST & 440 m? ¥ R T 22 Mew &, é}{&ravqaﬁa{mﬁw:{@gﬁ
?ﬁ?ﬂémww'sﬂ%m ERCAR NRRCIET

(b} Find the mean of the first five whole numbers.

(@) Uga uia yuf I8 &1 81e @ |




(a) A cement company earns a prolit of T & per bag of white cement sold and a toss of
3 5 per bag of grey cement sold. The company sells 3,000 bags of white cement and
5,000 bags of grey cement in a month. What is its profit or loss?

() TP HHe Byl Bl Iibe e F7 TR 8 30U Hid ST BT T §iell 8 SR &
e §5 W 5 S0 Ul &1 b1 THYH Bl &1 U T wEN T v e ¥
3,000 ST 3R U HiHe & 5,000 ST S B1 TP &1H A1 I FT 72

. 5
(b} Find the ratio of 15 kg to 210 g.
(@) 15 eI | 210 T & U &1 IdT Amd|
5
(a) Find the Highest Common Factor ot 25, 35 and 43.
(@) 25, 35 3R 45 B =T IR OGS J1d B
5

(b) There are 47 boys in the class. This js three more than four times the number of
girls. How many girls are there in the class?

(m}%&ﬂﬁwﬁ%lﬂgﬂ%ﬁ?@ﬁm@r?ﬂ?ﬂ:ﬂ@lﬂm%l DET |
forer! Trafdal g

(a) A square and a rectanglc have - the same perimeter. Calculate the area of the
rectangle if the side of the square is 60 cm and the length of the rectangle is 80 cm.

() waﬁaﬁwwaﬂuﬁwqﬁﬂmﬂﬂﬁ%mﬁaﬁaﬁﬁw@@ﬂ%aﬁw{m
&) daTs 80 A B ) S & B P10 B

5

(b) The area of a thombus is 16 em? and the length of one of ils diagonal is 4 cm,
Calculate the length of other diagonal:

(@) U MRS BT 45het 16 350 T § 3R 59F 1o fawol ot oams 4 S0t 81
3 Topul Bt ASTE BT 0T BN |

(a) 500 people were stranded on an island they had enough food to ltast for 30 days.
How long the food would last if there were 200 more people?

(&) 500 T T 21U UR 1 §U &, 3% U 30 &1 oo @M & R vaf diiem
4TI gfE 200 3R AT B A HioH fd= I9a de T

5
- (b) A rectangular piece of paper 12 cm x 5 ¢m is folded without overlapping to make
a cylinder of height 4 cm. Find the volume of the cylinder.
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(a) Sona reads 15 pages of a siorybook in a'day. Megha reads 10 pages.of the same
book in a day How many days will Megha take to finish the fiction book if Sona
finishes in 13 days?

(@) 1 U o1 & g ) fobaie & 15 T3 Tgdt 21 ﬁmw%‘—rﬁw‘é’rm

& 10 U Ugeht g1 afe T 13 ﬁﬁfﬁmm%wwwéﬁ’r%ﬁﬁmaﬁ
fepe foeT wrii)

5
(b) Sum of the digits of a two-digit number is 11. The given number is less than the
number obtained by interchanging the digits by 9. Find the number.

() G 3iep T 1 TP AT & ST BT TN 11 1 & T T bt o) 3119 F qeer
IR T ST ¥ 9 & § | TST 1d B

5

(a) Sunakshi bought medicines from a medical storc as prescribed by her doctor for
Rs. 36.40 including 4% VAT. Find the price before VAT was added.

(&) F1el 7 TP Biserd ®R T 30 Siae? gR] qdlsv‘a‘aﬁmzl%%'dﬂ%ﬁ
36.40 304 H WY | d¢ Sed T Ugd Fd 71 B

)
(b} 12 defective pens are accidentally mixed with 132 good ones. It is not possible lo
Just look at a pen and tell whether or not it is defective. One pen is taken out at
random from this lot. Determine the probability that the pen is taken out is a good
one.

(@) 12 BRI U9 1 el 9 132 a8 U9 & 91y fren Ry sar gt B 7 3

GEHR U Fq YT I8! ¢ fob 98 TRIE g W e | 39 g 9§ urefwe 0§
T UF AT o g uﬁﬂﬁﬁﬁﬁaﬁ%ﬂmwmlwaw%l

(a) If the radius of a circle is 4.2 cm, compute its area and circumference.

() IS Tl ga &) 3w 4.2 St 8, 39 & 3k oS &1 o 331

3
(b) A student scored the lollowing marks in 6 subjects: 30, 19, 25, 30, 27, 30. Find his
modal score.

(@) U 31 7 6 oot o Fafofad siw o e 30, 19, 25, 30, 27, 30 Im
ArSd R J1d B



10,

(a) If the mean of 4 numbers, 2,6,7 and a is 15 and also the mean of other 5 numbers,
6,18, 1, a, b is 50. What is the value of b?

() TTS 4 JETad, 267sh?aaﬂmw15%aﬂ?m5meﬁ 6,18, 1, a, b @I
& 50 § 1 b 7 7 a1 27

(b} If the mean of first n natural numbers is 15, then find n.

(@) T, TeH n UTepel HRTSH BT A1 15 3, n 3 B

oo kot
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